Revision Questions                Name: 

Here is a range of revision questions for you.  Make sure you show your working when you are asked to.  

1. Number operations – check your answers!

45 + ? = 110

(4 x 5) - ? = 12

60 x 3 = ?

3 marks

2. Order these amounts of money.  Start with the smallest amount.

£5.93
£0.60
45p

£12

£2.75

1 mark

3.  Reading a table.  Adding and subtracting

This table shows an increase in train ticket prices.

	Old fare
	New fare

	42p
	48p

	52p
	57p

	60p
	72p

	75p
	85p

	90p
	£1.05

	£1.20
	£1.28


James’s NEW train ticket is 72p.  How much has his ticket price gone up?

Sarah says ‘my train ticket has gone up by 10p’.  How much is Sarah’s new train ticket?   (2 marks)

4.   Rounding – addition and subtraction

Circle the number nearest to 1000.

1060

1049

1100

960

899

1 mark

5. Decimals fractions and percentages

Complete this table by putting a tick in the correct row.

	
	Greater than ½
	Less than ½

	0.9
	
	

	0.06
	
	

	11/20
	
	

	0.21
	
	


2 marks

6. Division and multiplication.  SHOW WORKING

Write in the missing digits to make this correct

? 4 ?

x    6

2052


2 marks – one for correct working and one for correct answer

7. Division.  

Calculate 847 ( 7

1 mark

8. Problem solving, addition and subtraction.  Show your working!

BOOK SALE – any three books for £14.50


Lee bought these three books in the sale for £14.50.  How much did he save altogether compared to the full price of the books?

2 marks – one for working, one for correct answer.

9. Subtraction

Calculate 1025 – 336

10. Measurement   (2 marks)




Measure the longest side accurately using mm.

Measure the smallest angle accurately using a protractor.

11. Multiplication SHOW YOUR WORKING!!!

Calculate 509 x 24

2 marks – one for working and one for correct answer.

12. Fraction equivalence

Complete these fractions so they are equivalent to 3/5

 ?



 ?


10



15


12








  ?

13. Triangles and perimeter SHOW WORKING!

Triangle ABC is isosceles and has a perimeter of 20cm.

Sides AB and AC are each twice as long as

Side BC.

Calculate the length of side BC.

2 marks one for working one for correct answer.

14. Percentages

Calculate 15% of 460

1 mark.

£3.99





£5.99





£6.99








